12a0259 (K12a0259)

/2’7’\7 Linearized knot diagam
K\:,/\ -

) 3 6 7 10 1 2 5 12 11 4 9 8

\\ — 1 \U—/ Solving Sequence

. 4311’10"54’9"12"8g>1ﬁ64>7—>3~>2>>01706
A knot d1agranﬂ Clp €4 €9 (€11 Cg Ci2 C5 Cr C3 (g

Ideals for irreducible component#ﬂ)f Xpar
I = (u® 4+ 5u® - 4 2u— 1)

I = (u* +u+1)

* 2 irreducible components of dim¢ = 0, with total 57 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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https://github.com/CATsTAILs/LinksPainter

L I* = (u® +5u5 4+ .- 4+ 2u — 1)

(i) Arc colorings

)

—ul? — 2017 — 8yt — 12u13 — 21wt — 2200 — 2007 — 12u® — 5ud — 2u

S5ul® + 11wt 4+ 7u® + 607 +2u® +ud +u >
+3u?+1 )

1

ailz = \0
1
ajo = \ —y?
—u

a5 = u3 + U

w? 41
ag = _u2

w4 ut+1
aiy = —u?t

wS+ut+2u%+1
a8 = _u6 _ u2

WS+ ub +3ut+20u2+1
ay = —u8 — 2u?
ag = ( w1 4+ 417 4 6uls 4

w9 + ud + 4ub + 3ut

a7 = \ —u'? — 2019 — 448 — 608 — 3u* — 2u?

u? +2ut -+ 6ud 4 u
az = \—u® -3 4+ .- —2u® +u

—ud? —5uP0 -+ 3u? + 1
as = u54—|—6u52+--~—4u4—|—u2

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u®* — 4u® + ... + 16u — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
“ u®® 4 30uSt - —2u — 1
C2,Cg wP -2t —du 1
c3, Cs w2t 200+ 1
C4,C10 u 4+ 5u” 4 2u 1
¢ u® — 100 + - — 10716u + 797
C8,C9, C11 w® — 100t 4+ —2u+1
C12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

c1 y?% =10y + .- — 10y — 1

C2,Ce Y 430y =2y — 1

cs3, Cs y*® —50y°t + -+ 94y — 1

€4, C10 y*® +10y°t + - -2y — 1
c 55 54
7 y*° —30y°" + - - - + 41338098y — 635209

Cg,C9, C11 y55+70y54+726y71
C12




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.592575 + 0.7447801

—3.48431 + 2.232321

—9.07962 — 4.255881

—0.592575 — 0.7447801

—3.48431 — 2.232321

—9.07962 + 4.255881

0.459054 + 0.8252741

0.68501 — 1.993601

2.38430 4 3.679111

= 0.459054 — 0.8252741

0.68501 + 1.993601

2.38430 — 3.679111

0.707571 + 0.6134371

—8.01052 — 2.803291

—9.21279 4 3.189131

= 0.707571 — 0.6134371

—8.01052 + 2.803291

—9.21279 — 3.189131

= —0.571994 + 0.8974151

—3.20861 + 6.066641

—2.24668 — 6.884881

—0.571994 — 0.8974151

—3.20861 — 6.066641

—2.24668 + 6.884881

0.597490 + 0.8926311

—7.10023 — 2.034431

—6.83549 + 3.309731

0.597490 — 0.8926311

—7.10023 + 2.034431

—6.83549 — 3.309731

= 0.573656 + 0.9155281

—6.37071 — 10.796301

—5.21230 + 9.865057

0.573656 — 0.9155281

—6.37071 + 10.796301

—5.21230 — 9.865051

0.709473 + 0.5694481

—7.49807 + 6.038171

—8.34541 — 3.602181

= 0.709473 — 0.5694481

—7.49807 — 6.038171

—8.34541 + 3.602181

= —0.163111 + 0.8923181

—2.29512 + 6.471721

0.57317 — 7.458251

—0.163111 — 0.8923181

—2.29512 — 6.471721

0.57317 + 7.458251

—0.688302 + 0.586086.1

—4.22010 — 1.376591

—5.30101 + 0.343351

= —0.688302 — 0.5860861

—4.22010 + 1.376591

—5.30101 — 0.343351

—0.226650 4 0.8641031

—2.66284 — 1.799511

—0.604898 — 0.9311521

—0.226650 — 0.8641031

—2.66284 + 1.799511

—0.604898 4 0.9311521

0.158391 + 0.8480631

0.73193 — 2.062291

4.26089 + 4.616641

0.158391 — 0.8480631

0.73193 + 2.062291

4.26089 — 4.616641

0.032760 + 0.8488741

2.77969 — 2.001751

7.49779 4 4.640901

= 0.032760 — 0.8488741

2.77969 + 2.001751

7.49779 — 4.640901

0.406358 + 0.6938251

0.093723 — 1.3990001

1.38184 + 4.661961

0.406358 — 0.6938251

0.093723 + 1.3990001

1.38184 — 4.661961

—0.548612 + 0.5144081

—1.05882 — 2.064671

—4.27290 + 3.604491

= —0.548612 — 0.5144081

—1.05882 + 2.064671

—4.27290 — 3.604491

0.894461 + 0.9031761

—8.78655 + 1.965731

0

||| |22 || |2(g|e|e|r|g|g|g|g|g|”f|g|g|g|g|g|g|g |

0.894461 — 0.9031761

—8.78655 — 1.965731

0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = —0.884957 4- 0.9140001 —7.60137 4-2.479451 0
u = —0.884957 — 0.9140001 —7.60137 — 2.479451 0
u = —0.876087 4 0.9346971 —7.53561 4+ 4.033321 0
u = —0.876087 — 0.9346971 —7.53561 — 4.033321 0
u = 0.874986 4 0.9474701 —8.64564 — 8.503681 0
u = 0.874986 — 0.9474701 —8.64564 + 8.503681 0
uw=0.920221 + 0.90424471 —12.94750 4+ 1.949571 0
u = 0.920221 — 0.9042441 —12.94750 — 1.949571 0
u = —0.924130 + 0.9011081 —16.2298 — 6.84661 0
u = —0.924130 — 0.9011081 —16.2298 + 6.84661 0
u = 0.899259 + 0.9328361 —12.49120 — 3.316191 0
u=0.899259 — 0.9328361 —12.49120 + 3.316197 0
u = —0.923024 4 0.9100307 —17.0363 4 2.28471 0
u = —0.923024 — 0.9100307 —17.0363 — 2.28471 0
u=0.889204 + 0.9645771 —12.7512 — 8.61501 0
u= 0.889204 — 0.9645771 —12.7512 + 8.61507 0
u = —0.888934 + 0.9689841 —16.0087 + 13.52331 0
u = —0.888934 — 0.9689841 —16.0087 — 13.52331 0
u = —0.894950 + 0.9636251 —16.8614 + 4.40907 0
u = —0.894950 — 0.9636251 —16.8614 — 4.40901 0

u = —0.569536 + 0.0388921

—5.25644 4 4.290031

—8.82901 — 3.697911

u = —0.569536 — 0.0388921

—5.25644 — 4.290031

—8.82901 + 3.697911

u= 0.522568

—1.89518

—5.69250

u = 0.368693 4 0.2842691

—0.336797 — 1.2331701

—4.20998 + 5.171341

u = 0.368693 — 0.284269]

—0.336797 + 1.2331701

—4.20998 — 5.171341




I1. I%

(i) Arc colorings

a1 =
ag =
a7 =
az =

ag =

(ii) Obstruction class = —1

(iii) Cusp Shapes = —12u —6

(w2 +u+1)



(iv) u-Polynomials at the component

Crossings

u-Polynomials at each crossing

C1,C2,Ce

c7

wHu+1

C3,C4,C5
Cg, C9, C10

C11, C12

wou+1




(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C2,C3
C4,Cs5, Ce
C7,Cg,C9

€10, C11, C12

y2+y+1




(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV —1(vol + /—1CS) Cusp shape
u = —0.500000 + 0.8660257 6.089651 0. —10.392301
u = —0.500000 — 0.8660251 — 6.089651 0.+ 10.392301
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
€1 (u? +u+ 1) (u® +30u + - —2u — 1)
2, Cg (u? +u+1)(u® — 20 4 —4u +1)
c3,C5 (u? —u+ 1) (u® +2u®* + - +20u + 1)
¢4, C10 (u? —u+ 1) (u® +5u® - 4 2u+ 1)
¢ (u® +u+ 1)(u — 106 + - -+ — 10716u + 797)
CS’CQ’ZE (u? —u+1)(u® =106 +--- —2u + 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
@ (v +y+ 1)y —10y° +--- — 10y — 1)
2 55 54
C2, Cg (" +y+ 1)y +30y" +--- —2y —1)
€3, C5 (y2 4+ 5y + 1)(y°5 — 5055 + -+ 94y — 1)
¢4, €10 (v +y+1)(y*° + 10y + - =2y — 1)
cr (2 +y +1)(y° — 30y°* 4 - - - +4.13381 x 107y — 635209)
€8, C9, C11 (y2+y+1)(y55+70y54+---—26y—1)
C12
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